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@ 12cm? @ 16 cm?
3)32cm? @ 64 cm?

® 256 cm?
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5. o2 399 SHAGEE ABCD YA BO =6, AO = 2% o, AC

o goli?

@ 6 @ 7 ®)s @ 9 ® 10

SHAITHE &l A H o oA
BO =CO°|E2 AC =A0 + OC = 89|t}
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ohg 199] SHAThelE ABCD Ol et 4 5
A D
0
B > C

® AC=DB

@ AB =DC

® (aABD9] o) = (ADCAQ] Wol )
@ AABC = ADCB
(@) »0BC = Aaztgolr,

~&B

@ SHAIHES] 44

@, @ AABC St ADCB A

AB =DC°]1, BCE: 35,

(B = /Co]E2 AABC = ADCB(SAS?HS)
.. AC=DB

® AABD ¢} ADCA 9| 4]

AD //BCe]1 ¥¥ AD+ 35°|B2
(AABD9] Y o]) = (ADCA9] Ho])




2 172 AD // BC <l SHAMCHE|&oltt,
A A, DA BCO W& 49 S E, F
2t Stk AD = 6cm, BC = 12cm ¥ o,
BE©) Dol Pelelt

- 6cm <

~&B

AABE ¢} ADCF = 50|t} (SAS %)
wetA BE = CF

"~ BE =3 (cm)

AD=EF = 6cm©|2& BE + 6 + CF = 12 (cm

)
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ths J1doll4 oABCD 7t SHAIEEY w, x, y o] #
Tatofat,

_6cm-~ .

/
8cm €T
) \
I ]
] 1
\ 1
B C
> E: cm
> E: Z
> Heh. x=8cm
> HE »y=15°

x=AB = 8cm
/B = 180° — 105° = 75°
S Ly =T5°




